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Solving Inequalities & Systems of Inequalities

Solve the following inequalities algebraically and draw a number line graph to represent each
solution.
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Graph the following inequalities.
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Graph the following systems of inequalities
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15) At right are the graphs of two functions, f(x) & g(x):
f(x) = 0.5 (x+3)2 -2

g(x)=-0.5|x+3|+8

Use the graphs to solve the following.

a) Solve forx: 0.5 (x+3)2-2=0

X = -5 or X = -l -1 —105'-9 =87 RSB Y

b) For what values of x is -0.5 [x + 3| + 8 < 6. State your answer algebraically and
graph it on a number line.
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c) For what values of xis -0.5 [x + 3] + 8 2 0.5 (x+3)? — 2? State your answer a
algebraically and graph it on a number line. ‘
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d) On the graph above, lightly shade the region that represents the solution to this
system of inequalities.
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